
 

National 5 – Home Ex 3 
Remember to show ALL working 

 

1.  Expand and simplify 

(a)  (5x + 1)(2x2 – 3x + 5)    (b)  
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2.  Factorise 

(a)  2m2 – 18   (b)  x2 + 8x + 15      (c)  6x2 + x - 1 

 

3.  Simplify 

(a) (-2a2)4   (b)  (5a3 x 2a-10) ÷ 20a4     (c)   
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4.  

  
 

5.  A snail crawls 3 kilometres in 16 days.  What is the average speed of 

the snail in metres per second?  Give your answer in scientific notation 

correct to 2 significant figures. 

 

6.  The price for Paul’s summer holiday is £894·40.  The price includes a 

4% booking fee.  What is the price of his holiday without the booking 

fee? 

 

7. 

   
 
 

 

 

 

 


